oo \NES%@ Youv v)nuvls

1911 w\bk D

NERERE L0v09 I “Y3IHOTIE

51 §YEed 1YaS _H:!_H_ 'Y INIMILVLS 008LE

LN > YINNVLS 3 1dvVHOIN
K

TENANT
BUILDING
04/20/2025
AS NOTED
23 OF 30 SHEETS

Bidding Only |05/14/25

>
b
14
0
-
0
2
1]

REVISIONS

20FT

S G |

15

10

6X6X3/8 STEEL TUBE ON 13"X10"X3/4"
STEEL PLATE W/ (4) 3/4" @ ANCHOR
= 10"

BOLTS
SCALE 1/4"

6X6X3/8 STEEL TUBE ON 14"X14"X3/8
STEEL PLATE W/ (4) 3/4" @ ANCHOR
NEW CONCRETE FOOTING, 48"X48"X12"
W/ (4) #5 REINFORCING BAR, EACH WAY

BOLTS

= 10"

FOUNDATION PLAN

SCALE: 1/4"

&

6X6X3/8 STEEL TUBE ON 14"X14"X3/8
STEEL PLATE W/ (4) 3/4" @ ANCHOR

BOLTS




REVISIONS BY

Bidding Only |05/14/25

W16X36

W16X36|

W16X36
i

C-2

—F —— —

C-2

-+ — H

Il
1!

i 100
TENANT #1

PROVIDE STEEL PLATE
PER DETAIL ON SHEET
S-4, TYP.

| A W16X67

103

TENANT #2

W16X67

106
TENANT #3

W16X67

C-1

109

TENANT #4

W16X67

C-1

112

TENANT #5

PROVIDE STEEL PLATE
PER DETAIL ON SHEET

S-4, TYP.

W16X67

I

J 101

TOILE

N =

TOILE

-—
-—

3

ROOM

(W)

II\/ )

STRUCTURAL STEEL

1. ALL STRUCTURAL STEEL SHALL BE NEW ASTM A—36 UNLESS NOTED
AND ALL FABRICATION, WORKMANSHIP, AND DETAILS SHALL BE IN
ACCORDANCE WITH AISC SPECIFICATIONS (1978 EDITION).

2. ALL WELDING SHALL BE DONE USING THE APPROPRIATE E/O SERIES

ELECTRODES.  WELDS SHALL BE MADE ONLY BY QUALIFIED WELDERS
AND SHALL CONFORM TO THE "STANDARD CODE FOR WELDING
IN' BUILDING CONSTRUCTION” OF THE AMERICAN WELDING SOCIETY.

3. ALL BOLTS SHALL BE 3/4” DIAMETER ASTM A325—F HIGH STRENGTH
BOLTS UNLESS OTHERWISE NOTED.

4. WHERE WELD SIZE AND LENGTH IS NOT INDICATED, USE MAXIMUM
WELD SIZE PER SECTION 1.1/, AISC SPECIFICATIONS.

5. CONNECTIONS NOT SHOWN ON THE PLANS SHALL BE DETAILED
PER TABLE | AND TABLE Il OF THE AISC MANUAL. PROVIDE MAXIMUM
ROWS OF BOLTS PER TABLE I, 5/16” FRAMING ANGLES AND 1/4”
WELD SIZE.

6. MOVEABLE PARTITION. CONTRACTOR TO SUPPLY STEEL CONTRACTOR
WITH TEMPLATE FOR PRE-PUNCHED HOLE LOCATION IN SUPPORT
BEAMS FOR PARTITION TRACK.

/. ALL STEEL SHALL HAVE ONE SHOP COAT OF PAINT, RUST—INHIBITIVE
CHROMATE PRIMER, THEMAC GREY 1009 OR EQUAL. AFTER ERECTION
TOUCH UP ALL PREVIOUSLY UNPAINTED SURFACES, ABRASIONS, WELDS,

BURNS, ETC. WITH SAME PAINT AS SHOP COATS.

JOIST NOTES

1. JOIST MFR. TO DESIGN & PROVIDE ALL NECESSARY BRIDGING ETC. FOR THE
COMPLETE JOIST DESIGN & INSTALLATION

2. JOISTS SHALL BE DESIGNED FOR A SEAT DEPTH OF 2%" U.N.O.

3. JOISTS SHALL BE DESIGNED FOR THE GRAVITY LOADS INDICATED ON STRUCTRUAL
NOTES. THE SPECIFIED DESIGN SUPERIMPOSED DEAD LOADS DO NOT INCLUDE
SELF-WEIGHT OF JOISTS

4. JOISTS SHALL BE DESIGNED FOR COMPONENTS & CLADDING WIND LOADS
INDICATED ON STRUCTURAL NOTES. CONSIDER ONLY SELF-WEIGHT OF ROOF
DECK TO COUNTER ACT THE SPECIFIED NET UP LIFT DESIGN FORCES.

104
TOILET ROOM

//-\
( WH \)
n,

G

‘=

—

/ N\

[ WH
107 \0CAL
TOILET ROOM

-—

[

(
e,

/WH)
1

TOILET ROOM

—
[ Sy RN
Py N
o2
-

o M

i

N/

ASTFLOOR PLAN

SCALE: 1/4" = 1'-0"

6,495 SF

T

COLUMN SCHEDULE

C-1
C-2
C-3

HSS 6X6X1/2
HSS 8X681/2
W14X22

N/

il

O

31800 STATELINE RD.

BEECHER, IL 60401
stanula.arch@gmail.com

<C
_]
D,
2
P—.
)
L]
_
LL]
<C
1L
O
=

architect

EW 1 STORY VB
TENANT
BUILDING

DATE:

04/20/2025

SCALE:

AS NOTED

JOB NO.

25015

SHEET

S-2

24 __30

0 5 10 15 20 FT

™ ™ — | —

SCALE 1/4" = 1'-0"

SHEETS




™ © («) (5) (o) (e) I
Bidding Only |05/14/25
1 1 1 1
| 7 I I I I N
| ] [ ] || ] || ] | ] | ]
||| [ ] || ] || ] ||| |||
] ] ] ] ] ]
[ 1 I I I I [ 1
| ] [ ] || ] || ] | ] | ]
||| [ ] || ] || ] ||| |||
] ] ] ] ] ]
| | | | | T
| 1] ] ] ] 2
|| ] [ ] || ] || ] ||| |||
L1 ] LT 1T 1T | - 1 T
| | | | | | | | | | | | | ] | | | | | | |
I I I I I I I I I I I I I I I I
I 24K10 @ 5'0" OC. |
i | | i i i i i i | i i | | i
I I I I I I I I I I I I I I I
I I
| | | | | | | | | | | | | | | |
I I I I I I I I I I I I I I I I
CLASS B TPO|ROOF
I I I I I I I I I I I I I I I I
I I I I I I I I I I I I I I I I
I I
I~
T~ [ ]
— 11/2"X 22 GATYPE B GALV. WIDE RIf ———— O
METAL DECK, CQNTINUOUS OVER 3
OR MORE SPANS \
I I I I I I I I I I I I I I
I I I I I I I I I I I || I I I I I
_ds_:
' } | | i ! | | i ! | N i | i ! | s S
I I I I I I I ) Zg §
J© 5
— E= ¢
< S
1 e i = - i : ——t - - il
I .
| | | | | | | | | | | | | | | | < o0 <
o S
I I I I I I I I I I I I I I I I Qﬂ S
I_ nm =
N I N I N m
| \—I ROOF FRAME | | | | | | \—IROOF FRAME | | | | | \—i ROOF FRAME |
| | PER DETAIL, TYP. | | | | | | |PER DETAIL, TYP. | | | | | | PER DETAIL, TYP. | "
24K10 @ 5'0" OC. I I I
I I
] ] J
I I I I I I I I I I I I I I
I I I I I I I I I I I I I I I I I I I
| | O
| | | i' | | < %
—_ —_ — J— — |A’ J—
~
I I I I I I I I I Ry
| I I I | I I I I | I I | IQ
= >
| | | | | | | | | @
» I I I | I I I I | I I »
- | | | | | | | | | | -
I I I I I I I I I
| I I |
I I I I I I I I I
I I I I I I
I I I I I I I I
NN | | | | | | X | |
| |
|| i 1] i IAI i ||
EW 1 STORY VB
TENANT
BUILDING
| | SATE:
04/20/2025
SCALE:
AS NOTED
ROOF PLAN v
SCALE: 1/4" = 1'-0" 25015
SHEET
S-3
0 5 10 15 20 FT

25 .30

SCALE 1/4" = 10" SHEETS




REVISIONS BY
Bidding Only |05/14/25
c-2
C-1 /
| LEVELING NUT W/ | | REMOVE TOP PORTION OF EXISTING REMOVE TOP PORTION OF EXISTING
| 2"X2"X.25" WASHER 3/4" STEEL PLATE, 14"X14" | | CONCRETE FOUNDATION WALL FOR CONCRETE FOUNDATION WALL FOR
2-2" o W/ (4) 3/4" EXPANSION BOLTS, | NEW SLAB AND NEW 4" X 2" KEY WAY NEW SLAB AND NEW 4" X 2" KEY WAY
T Dl MIN. 16" LONG, DRILL & EPOXY ' '
11" 11" AS REQUIRED | | NEW CONCRETE SLAB PER NEW CONCRETE SLAB PER
| | [ on]
i i £ J/ | ARCHITECTURAL SECTIONS ARCHITECTURAL SECTIONS
4" 116" | 4" 4 | 1,16,, s~ 4 NEW CONCRETE SLAB PER ’) (SHEETS A-6, A-7, & A-8) (SHEETS A-6, A-7, & A-8)
T e ARCHITECTURAL SECTIONS : v : : 3/4" STEEL PLATE, 14"X14"
| | | | (SHEETS A-6, A-7, & A-8) <l & " ! W/ (4) 3/4" EXPANSION BOLTS,
. T T e T 1 2/ MIN. 16" LONG, DRILL & EPOXY
N I I g, = I 3 |l <2 [ B AS REQUIRED
R 1 ] ~ L™ =) =
< < :\" 8 A <
T 1 — -
| 4 1-Q" g > 4| 2 EXISTING CONCRETE FOUNDATION
A - /) A S [ r S / WALL AND FOOTING
¥ > EXPANSION JOINT & -8 ¥
~ 5 !
. . — . A . - : #5 SMOOTH DOWELL, TYP.
ﬁ i 4"_ 2" NON-SHRINK GROUT /' 1._4"A 10" - —
nyqan it S,
J | Eﬁgggﬁé iééilﬁg'\‘/'vf;‘ PIER PORTION OF NEW CONCRETE 3 A EXISTING CONCRETE FOUNDATION
4'lo" REINFORGING PER PREVIOUS PIER & FOOTING W/ (2) ROWS OF 3 WALL AND FOOTING
REINFORCING
DESIGN Ny
ST~ — L]
o /\
y 4 1.0 1-0"
3
L

RN

NEW FOOTING DETAIL EXISTING PIER DETAIL TYP. PARTIAL NEW PIER DETAIL EXISTING FOUNDATION DETAIL

SCALE: 3/4" = 1'-0" SCALE: 3/4" =1'-0" SCALE: 3/4" = 1'-0" SCALE: 3/4" = 1'-0"

il

O

CONTROL JOINT, TYP.

12" 3/4" STEEL PLATE, 14"X14" 16" 3/4" STEEL PLATE, 14"X14" Jrom from oy
. . ON 3/4" GROUT BED W/ . o 1/~ ON3/4" GROUT BED W/ 3/4" STEEL PLATE, 14"X14" 3/4" STEEL PLATE, 14"X17" 3/4" STEEL PLATE, 14"X17"
2 10" 2 (4) 13/16" HOLES 2 -2 2 (4) 13/16" HOLES 10" o ON 3/4" GROUT BED W/ o 40" 2" ON 3/4" GROUT BED W/ T ON 3/4" GROUT BED W/
(4) 13/16" HOLES (4) 13/16" HOLES (3) 13/16" HOLES

] ] ¥ 3 3/4"
o ° o /@—‘7—< o o, ° I 8
~ /6—‘7—< N N (( ) . N <)
?\I - L] :\‘ - o o < m A NS}
S = + R = " . + . we =~
- AN - i a5 - | - A 5| & S 3
~ L] - vl " ’ T e =3 N
:; o o \ - o S = = © S

HSS 6X6X1/2 . : Z i - Z i = T

ISOLATION JOINT 8 k HSS 6X6X1/2 S ) ° o < = - @
Y 211 10u 211 < m p
| \ PRTTIES
COLUMN & BASE PLATE HSS 8X6X1/2 S HSS 8X6X1/2 Jrom HSS 8X6X1/2 5 5 <
oo =
© =
nom =

TYPICAL COLUMN ISOLATION JOINT C-1/BP-1 C-1/BP-2 C-2/BP-3 C-2/BP-4 C-2/BP-5

MICHAEL E. STANULA

SCALE: 3/4" = 10" SCALE: 3/4" = 1'-0" SCALE: 3/4" = 10" SCALE: 3/4" = 1'-0" SCALE: 3/4" = 10" SCALE: 3/4" = 10"
36"
1|_9ll 1'_9" .
o 3/4" STEEL PLATE, 16"X20" m D
g 1.4 ON 3/4" GROUT BED W/ 2} AT LY ‘ % Q_)
9" 9" / CONCRETE PIER, 18"x22" 2" 1om 2 (4) 11167 HOLES El")l\/llf\l. BEARING i L\ } ~
2| CONCRETE FOOTING, : EACHEND . C I~
/N / 42"X54"X12" o o o — B
= I
| — s < ) TYPICAL O
o 1 1 -
< + il B “
: — . 4 e LINTEL DETAIL ~
. g e e (A= SCALE: NTS N - N
o e _1%"LONG SLOTTED
W14X22 o HOLES TO RECEIVE STUDS D, e
o ( ROOF JOISTS 7
N / - STEEL BEARING PLATE | CENTER LINE— |
= 7 8'%7™3," W/ %" DIA. | |
EXISTING FOUNDATION WALL (V.I.F.) C _3 l B P _6 - - ANCHOR BOLTS @ 9" O.C. | |
e e —— T OVER +/- 1" DRYPACK E— 2 |
SCALE: 3/4" = 10" = | |
| |
1 ~_GROUT SOLID (1) COURSE x 24" | R |
" UNDER CENTER BEAM i T 30"x315"x46" STEEL |
_—— PRE-MOLDED FOAM L ANGLE (TYP) —— |
OR NEOPRENE PAD | =
7 | o 1
L \ !
4" LONG BOND BEAM | |
GROUT SOLID W/ (2) | v, |
H5x42" BARS | v |
e T \
\ . \ \
-- . | |
=/ ‘ ROOF JOISTS ‘ L
%:u | CENTER UNE——_ | EW 1 STORY VB
BACKER ROD W/ L e
o URETHANE SEALANT | | || BUILDING

DATE:

STEEL BEAM TO VERTICAL EXPANSION ROOF 04/20/2025

EXTERIOR WALL DETAIL JOINT DETAIL FRAMING DETAIL
SCALE: 14"=1"-0' SCALE: 1"=1"-0' SCALE: %5'=1-0' AS NOTED

JOB NO.

25015

SHEET

S-4

26 OF 30 SHEETS




	S-1-Foundation Plan
	1/A-14
	2/A-5

	S-2-1st Floor Plan.pdf
	S-2-1st Floor Plan
	1/A-4


	S-3-Roof Plan.pdf
	S-3-Roof Plan
	1/A-15
	2/A-6


	S-4-Details.pdf
	S-4-Details
	1/S-4



